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English (Total Marks-20)
Q7 Write a letter to the editor of a local Newspaper about the Cleanliness of your 5 marks
city. (use xyz as your name)
Q8 Solve them as directed: 1x3=3
1) Antonym of Brittle marks
A- weak | B- week | C- fragile | D- formidable
2) Antonym of Admiration
A-Diminish [ B- Cognisance [ C- Accomplish | D- Contempt
3) The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
| The couple /preferred to walk /until the last house/ of the town.
A-The couple B- preferred to C- until the last D- of the town
walk house
Q9 Solve them : 1x3=3
1) Yesterday, late only a............. of apples for my dinner. marks
A- pier | B- pare | C- pair | D- pear
2) The sounds of Owls.
A-Hoot | B- Caw | C- Cluck | D- Moo
3) Select the most appropriate meaning of the given idiom.
At onc’s fingertips.
A-To have complete | B- out of reach C- 1o take revenge | D- to be unaware
knowlcdge of something
Q10 Select the most appropriate option to fill in the blank: 1x3=3
1) This it the clock that I have ever seen. marks
A-purest | B- finest | C- sharpest | D- tastiest
2) Applying moisturiser is especially important for hands, as they tend to be one of the
parts of the body.
A-most drier | B- dry | C- driest | D- drier
3) Ritu went to get a drink of water ............. her exam started.
A-even | B- before | C- whether [ D- now
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Q1 Tentifying the tense used in the following sentence: 1x3=3
1) I have been working on the problem. o
A-present B-present perfect C- past perfect D- Past continuous
continuous continuous
2) 1 will represent him in court.
A-Simplc present | B- Simple Future | C- Simple Past | D- Future continuous
3) They are working on the project together.
A-Simple Present | B- Past Continuous | C- Simple Past D- Present
Continuous
Q12 Solve them as directed: 1x3=3
1) Synonym of Massive o~
A-Lumpsum | B-Strong | C- Little [ D- Huge
2) Select the incorrectly spelt word:
A) Taught | B- Academecian | C- Britain | D-Distinguished
3) Select the most appropriate option that can substitute the underlined bold word in
the given sentence.
The family was saved from the burning building by the brave firefighter.
A-fearless | B- unafraid [ C-timid | D- cowardly
A S (el 3ih—30)
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[ A=rorerm | B—uRem dmrat | C—men ww | D—s==wRw ]
In which state of India was the Panchayati Raj system first implemented?
| A) Rajasthan | B) West Bengal C) Madhya Pradesh | D) Uttar Pradesh |
¥ 14 | 3G &1 YA b9 MR @ SUAR # &ial 27 2 3
[A-mpe [B- @& [C- 3 |D-weh pr® |
Insulin is used in the treatment of which disease?
[ A) Diabities | B) TB | C) Dengue | D) Yellow Fever |
U¥ 15 | 2025 H TV [QqH WARIE ¥ g3 AR fHA < b A? 2 35
[ A- s | B- v | C—=efRrnr [ D—shtan |
Which country was the chief guest at the Republic Day celebrations in 20257
| A) Japan | B) Indonesia | C) Malesia | D) SriLanka |
U¥ 16 | Fa 2025 H {6 ¥ A JYIS P! AT PR AT 27 2 3is
[A- R | B- &= | C- [ D—gfrafan |
Which country has abolished death penalty in January 2025?
VT — T T —
U¥ 17 | 9Rd YEdll dR fd¥ady fbde &1 fAuiar fbd a9y &1 or? 239
[ A- 2011 [ B- 2019 | C- 1983 | D- 1975 ]
In which year did India become the winner of World Cup Cricket for the first time?
[ A)2011 | B) 2019 C) 1983 | D) 1975
U 18 | Y2l & dAIgHSH W HAW 3D ATAT § D G dcd AT oI 87 2 3%
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Which element is found in largest quantity in the Earth's atmos ho |
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Where are Ellora caves located? -
[ A) Gujrat | B) Maharashtra [ C) Uttar Pradesh | D) Rajasthan | 53
T 20 | GRER WG 4l (54 T4) W Red 87 1 i
[A- =2 [B- [Cim | D =
Sardar Sarovar Dam is situated on which river? 1
[A) Kaveri [ B) Narmada [C) Gan | D) Yamuna _
T 21 | AW 1 SANGAR B @ forg JAad g 1 &7 23
| A—18 =¥ [ B- 30 =¥ [ C-21 = [ D- 28 B
What is the minimum age to be a Rajya Sabha candidate?
[A) 18 Yrs [B) 30 [C) 21 yrs [D) 28 yrs |
T 22 mwuﬁm%wﬁﬁﬁﬂ&sﬁ?ﬁamm/@\mvﬂw 2 3%
1. ¥% BT 9@ &a1 § AR $ I fasd 21
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[ A= aa 2 [ B- @aa 1 [Coiakeai |Dad1adéi2 |
With reference to Rudra M-II Missile, which of the following statements is/are correct?
1. It is an air to air missile.
2. It was tested in Odisha in May 2024
[ A)Only 2 [ B) Only 1 [C)Both 1and2 | D) Neither 1 nor2 |
TH 23 | SaRVSY @ (9 ®IF W qH g5 7 AU HH Su_y e ar? 2 3%
| A= | B—gfet | C—sirsiat | D- wRem |
At which place in Uttar Pradesh did Gautam Buddha give his first sermon?
| A) Gaya [ B) Lumbini | C) Srilanka [ D) Sarnath |
T 24 | SIS GREDHR (94 &3 A (a1 Sirdl 87 2 3i®
[ A— wz@Rar | B-fRsm™ | C- wfR | D= |
In which field is Jnanpith Award given?
[ A) Journalism B) Science C) Literature | D) Sports |
g9 25 | AHH ] qren YUH 59 w1 27 2 5
[ Ay B- SERIAETS | C—orm [ D-fer ]
Which is the first state to implement Uniform Civil Code?
[A) Goa [ B) Uttrakhand | ©) Gujrat | D) Bihar ]
U9 26 | AMNAR | AeId B > v
A- Ff&ATARS | B-aiféas C— wiféar wam D—aif&aaeimTd
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CPR Stands for :
A) Cardiopulmonary | B) Cardiac Pulsatile | C) Cardio D) Cardiopulmonary
Resuscitation Revision Programme Rescue Revision
T 27 [ AR T e A Q e 87 -
[A- e [ B- ¥sfiven | C-wrew [ D—zmt ]
B.Sai Praneeth is related to which sport?
| A) Cricket [ B) Badminton | C) Chess [ D) Hockey ]
[y TR (G 3iH—20)
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[A)s52 [ B) 49 | c)a8 [ D) 50 |
Q28 LCM and HCF of two numbers are 150 and 5 respectively. If one of the number is 15, then find the
other number.
[ A)s2 | B)49 [ c)a8 [ D)s0 |
e 29 & e @1 O 9 31 R S © Us qud el 9§ 16 A9d € a1 Il WeAn 9@ | 4 3B
Hifrg?
[A) 50, 40 [ B)53,37 [ ) 64,48 [ D) 43, 47 ]
Q29 The sum of two number is 90. If one of them exceeds the other by 16, find both the
numbers?
[ A) 50, 40 | B) 53,37 | c) 64,48 | D) 43,47 |
9T 30 | 5 @ 919 HANTA OIS BT AT 285 © | AR qS1 WA S iy | 4 3P
['A) 100 | B)75 [ c)120 | D) 90 ]
Q30 The sum of three consecutive multiples of 5 is 285. Find the largest number.
[A)100 [ B) 75 | ¢) 120 [ )90 |
9T 31 | 10 400 AR A JABR 3@ W aredl 8| 98 §9 W AWM 3 daIR FNl 8| TE T | 4 b
waE ¥ 2% W fral g @ ¥) a@ F=ar 87
[A)7.2 | B)8.4 |c)8.8 | D)9.4 Il
Q31 Ankit runs on a circular track of length 400m. He makes 3rounds daily on it. How much
distance (in km) does he cover on the track in a week?
[A)7.2 [ 8)8.4 [c)s.s [ D)9.4 ]
U 32 | 60 [BA1 /T B e Q ol dlell U o1 9 UHhS A Udh @ B UR X Wil | 4 3B
21 29 % warg fea 27
[ A) 120 %= | B) 180 #rex | €) 150 #rex | D) 190 #rex 1
Q32 A train running at the speed of 60km/hr crosses-a-pole in-9-seconds. What is the length-of

the train?

[ A) 120 mts [ B) 180 mts [ ¢) 150 mts [ D) 190 mts |
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